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A(30) . MacCCHBTI AAABIMEH KEMIMEAI TYPAE, COHOH
CNeAl TYPAE OPHAAACTLIPY.




S eclipse-workspace - ARU/src/com/company/ARU java - Eclipse IDE = X
File Edit Source Refactor Navigate Search Project Run Window Help
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[% Packagebxpl.. 2 = O [J] "ARUjava 53 ) System.class ) titijava = B [ Tesklist 2 = {m]
BES $§ 6 AB T ||%E% @

v 5 ARU ublic static void main(Strin args o

B, JRE System Library [J2v P ( el] ares) A \ =9

v B src p 8
¥ i o int [] 2 = {1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22,23,24,25,26,27,28,29,30};
[l ARUjava for (int i = 0; i<a.length; i++) { P ALY Ac.

[4 arukajava
A7) |0Exception.java
[3) jm.java
) titijava
£ javaio
i javapp
i System.out

for (int j = 0; j <a.length; j++) {
if(a[i]>aliD) {
int temp;
temp=a[i] ;
a[i]=a[j]; 5= Outline 53 = g
a[j]=temp; BRw e w3

¥ g

} ‘ 2 com.company

¥ v G, ARU

for(int i=0;i<a.length;i++) © ° main(String[]) : vo
System.out.println("a["+i+"]="+a[i]);

3

[#7 Problems @ Javadoc @,Declaration &) Console §2 |mm Coverage @ X %‘ = Eﬁ M= @| R e =
<terminated> ARU (1) [Java Application] C:\Program Files\Java\jdk-14.0.2\bin\javaw.exe (19 okt. 2020 r,, 21:30:03 - 21:30:03)

a[0]=30 ~
a[1]=29

a[2]=28

a[3]=27

a[4]=26

a[5]=25

a[6]=24

a[7]=23|

a[8]=22

a[9]=21

a[10]=20

a[11]=19

a[12]=18

a[13]=17

a[14]=16

a[15]=15

a[16]=14




1 M) *ARUjava 22

f 1 package com.company;
2 import java.util.Scanner;
3 class ARU {

4
5e public static void main(String[] args) {
6
7 int[] A =new int[30] ;
8 int S=0;
9 Scanner in = new Scanner(System.in);
10
11 for(int n=1; n<=30;n++) {
12 for(int i=@; i<A.length;i++) {
13 S=A[i]+n;
14
15 }
16 System.out.println(+S);
17 33}
[#] Problems @ Javadoc [E) Declaration B Console £2 [ Coverage " X % |
<terminated> ARU (1) [Java Application] C:\Program Files\Java\jdk-14.0.2\bin\javaw.exe (19 okr. 2020 r., 17:52:24 - 17:52:24)
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17

‘ Writable Smart Insert \ 16:33:307




(15).A MOCCMUBIHIH
ETUKAAbIK
HE TEOMETPUAABIK
TOCbIHbIH
EMEHTTEPIH
ceHTey. All]<>0

1 package com.
2=import java.
.util.Collections;
4 import java.

3 import java

company;
util.Arrays;

util.Scanner;

5 public class ARU {

62 public static void main(String[] args) {

7 int [] a = {1,-2,4,-8,16,-32,64,-128,256,-512,1024, -2048,4096} ;

8 int s=0,f=1;

9 double v,d;

10 for (int i=0;i<a.length;i++) [

11

12 s+=a[i];

13 f*=a[i];

14 A

15 System.out.println("s="+s);

16 v=s/15;System.out.println("apudmeTukansik opta“+v);

17 d=Math.pow(f,1/15);System.out.println("reometpuansik opta”+d);
18 }

19 }

20

21

22

23

24

25

& Problems @ Javadoc [E} Declaration [ Console 52 |@m Coverage

s=2731
apudpmeTukansik optal82.o
reomeTpuAnbiKk optal.o



: % 3 imy java.util.Collections;
(15).MACCHUBTIH & i ot Soimen™

5 class aruka {

~ 6 static double g=0 ;
H XeHe 7 private static double ¢[]= {1,2,-3,4.7,5,-6,7,-8,9.9,-4,-12,-56.8,65.6,32,14};

8¢ public static void main(String[] args) {
i M 9 findMax(C);
K” I II 10 findMin(C);
14 }
S 12e public static void findMax(double[] C) {
= e/\/\eHTIH Tq6y 13 Arrays.sort(C);
14 a=C[C.length-1];
15 System.out.println("eH ynkeH=" +a);

OHE OAQPAbIH, =

17e public static void findMin(double[] C) {
DOHbIH

18 double b=C[0];
bICTbIPY.

19 for (int i=0;i<C.length;i++) {
20 if (clilcclol) #

21 b=C[i];

22 }

23 }

24 System.out.println("eH kuwu=" +b);

25 System.out.println("OPbHbIH AYBICTBIPY");
26 System.out.println("eH ynkeH=" +b);

27 System.out.println("eH kuuu=" +a);

28 1}

& Problems @ Javadoc [E) Declaration [ Console &% [zm Coverage
<terminated> aruka [Java Application] C:\Program Files\Java\jdk-14.0.2\bin\javaw.exe (16 nos6. 2020 r., 16:35:14 - 16:35:13)

eH YyNnKeH=65.6
eH Kuwn=-56.8
OPbIHbIH AYbICTbIPY
eH ynkeH=-56.8
eH Kuwn=65.6




4J) ARUjava System.class ) titijava 1) arukaajava 53

1 package com.company;
2
3 import java.util.Scanner;
4
5 public class arukaa {
6¢ public static void main(String[] args) {
Scanner in=new Scanner(System.in);
System.out.println("caH xazbHbi3: ");
int numberOne=in.nextInt();
int array[]=new int[numberOne];
int max=array[0];
int min=array[0];
for(int i=@;i<array.length;i++){
array[i]=in.nextInt();
if(array[i]>max){
max=array[i];
¥

~

¥

System.out.print("Maccus: ");
for(int i=@;i<array.length;i++){

System.out.print(array[i]+" ");
¥

VMHhWNRERPODOLURORNIITUVESE WNRE O W

[#] Problems @ Javadoc [G) Declaration [ Console 32 [@m Coverage

System.out.println("\n"+"eH ynkeH 3nemeHT:

5 public class arukaa {

6_‘

public static void main(String[] args) {

<terminated> arukaa [Java Application] C:\Program Files\Java\jdk-14.0.2\bin\javaw.exe (24 oxT. 2020 r., 20:04:34 - 20:04:44)

MaccuB: 678944
€H Y/NIKeH 3/n1eMeHT: 94

7 int array[] = new int[]{10, 11, 88, 2, 12, 120};
8 int max = getMax(array);

9 System.out.println("ynkeHT snemeHT: "+max);
(4]

1 int min = getMin(array);

2 System.out.println("kuwu 3nemeHT | "+min);
3 }
14
15

16¢ public static int getMax(int[] inputArray){
17 int maxValue = inputArray[0];

18 for(int i=1;i < inputArray.length;i++){ if(inputArray[i] > maxValue){
19 maxValue = inputArray[i];

20 }

21 }

22 return maxValue;
23 }
24
25

26¢ public static int getMin(int[] inputArray){
27 int minValue = inputArray[0];
28 for(int i=1;i<inputArray.length;i++){
29 if(inputArray[i] < minValue){

30 minValue = inputArray[i];

31 }
32 }

33 return minValue;

34 }

35
36 }
37

[#7 Problems @ Javadoc [E) Declaration B Console 52 [ Coverage
<terminated> arukaa [Java Application] C:\Program Files\Java\jdk-14.0.2\bin\javaw.exe (24 okt. 2020 r., 20:22:09 — 20:22:10)

YJIKeHT 3/ieMeHT: 120
KWWK SN1eMeHT : 2



0 E(25).E MQCCMBHIH €H YAKEH SAEMEHTIH XXAHE OHbIH PETTIK HOMEPIH AHbIKTAY

1 1) ARUjava System.class 4] toysjava ) arukajava §2 4] apy.java = B [ Tasklist &2 = (e

§ 1 package com.company; B d-|SE%| e
. 2=import java.util.Arrays; X % B8
“ o 3 import java.util.Collections; g
» 4 import java.util.Scanner; e
5 class aruka {
6 static double g=0 ;
7 private static double c[]= {1,2,-3,4.7,5,-6,7,-8,9.9,-4,-12,-56.8,65.6,32,14};
8¢ public static void main(String[] args) m
9 FindMax(C);
10 jj
11e public static void findMax(double[] C) {
12 Arrays.sort(C);
13 a=C[C.length-1];
14 System.out.println("eH ynkeH=" +a);
15 System.out.println("opHanackaH peTun-13");
16 }
17
18 }
19
5% Outline 52 = =)
dBEERY e W
&/ Problems @ Javadoc [&) Declaration [ Console 52 |@a Coverage = X &| B bR 2| & @1 ME-=mM-=2 0 §
<terminated> aruka [Java Application] C:\Program Files\Java\jdk-14.0.2\bin\javaw.exe (16 Hos6. 2020 r., 16:48:18 - 16:48:18) W comcompany,
eH ynKeH=65 - 6 iDAa;u:? double
opHanackaH peTu-13 a $ C: double]]
e’ main(String(]) : void
@ ° findMax(double[]) : void
> < >

Writable Smart Insert 10:6:285

16:48
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0 E(25).E MQCCUBHIH €H KMLLWM SAEMEHTIH AHbIKTAY

D M 3 ] import java.util.Random;
4

5 public class apy {

6¢ public static void main(String[] args) {
7 Random rand=new Random();

8 int E=25;

9 int mass []=new int[E];

) for(int i=0;i<Eli++){

1 mass[i]=rand.nextInt(30)+10;

2 System.out.println(mass[i]);

3| B

4 int min=mass[0@];

5 for (int i=0;i<mass.length;i++){

6 if(mass[i]<min){

7 min=mass[i];

8

9 }

%)

1 ¥

2 System.out.println("min = " +min);
3 b}

[#7 Problems @ Javadoc [G) Declaration [ Console 52 |zm Coverage

30
21
20
12
38
11
18
10
23
15
36
17
min = 10

\\
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H(30),Y(N).Y maccumBHE OAABIMEH OH CAOHAQPAbI, COHOH COH H MACCMUBIHE TEPIC SAEMEHTTEPAI

OPHAAQCTbLIP. N-30

1 package com.company;
2

., 3 import java.util.Random;

4
5 public class apy {

6° public static void main(String[] args) {
7

8

9 int[] arcay = {12, '@, -22, @, 6, 29, -4, =25, 12, 43, @, -9, }I);

int[] H = new int[array.length];
int[] Y = new int[array.length];
int countl = 0;
int count2 = 0;
for (int i = 0; i < array.length; i++) {
if (array[i] > 0)
H[countl++] = array[i];
if (array[i] < 0)
Y[count2++] = array[i];

¥
System.out.println(java.util.Arrays.toString(H));

System.out.println(java.util.Arrays.toString(Y));
I3
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Problems @ Javadoc LQ Declaration [ Console §2 [mm Coverage = X &| EN Eﬁ | & @I MByfy =

[12, 6, 29, 12, 43, 0, 0, 0, 0, 0, 0, 0, O]
[-22; -A; -25; <9, <7; @; 050, ©; 05 0,90, 0]







